CS (Main) Exam, 2020
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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly
struck off.
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Ql.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

- ATHA T TR AR Fen T 3 % {W F Afd HEwwqul |l § § Tk

gfafiferea svtar @ | feremm HifSE | (150 wsa) # IR i)

The rock-cut architecture represents one of the most important sources of our
knowledge of early Indian art and history. Discuss. (Answer in 150 words)

I ¥ dig 91 & 3foem # ura et af AEwagul = @ | faverwr Hifvw |

(150 wsa] # I i)
Pala period is the most significant phase in the history of Buddhism in India.
Enumerate. (Answer in 150 words)

TS i sl Al Td TS IS W STk gUIH WHTE T Hodieh shifae |

(150 vl # I difm)
Evaluate the policies of Lord Curzon and their long term implications on the
national movement. (Answer in 150 words)

it & % - ifoehi iftreeon @ faasm e | (150 w=al & 3w dif)
Discuss the geophysical characteristics of Circum-Pacific Zone.
(Answer in 150 words)

TR % TFH H TaaEias Had T8 S § | v afka it fig
Hlm | (150 w3t A I &)

The process of desertification does not have climatic boundaries. Justify with
examples. (Answer in 150 words)

fere & feaal % freem #1 WRa % Jo-seme W foRa SR gume s g 2

(150 Tsqi ¥ I i)
How will the melting of Himalayan glaciers have a far-reaching impact on the
water resources of India ? (Answer in 150 words)

A § ©ltg W@ $ETd I Fe e % ara @ o fRafa w1 S |fga s
a3y | (150 weqt H I AHfvw)

Account for the present location of iron and steel industries away from the
source of raw material, by giving examples. (Answer in 150 words)

Fg-AiEpfh TR FAS B Gy F Fo il K yrEfiesar g @) T R 2 e
afea faega I G 1 (150 wegt @ I difst)

Has caste lost its relevance in understanding the multi-cultural Indian
Society ? Elaborate your answer with illustrations. (Answer in 150 words)
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Q9.

Q10.

Ql11.

Q12.

Q13.

Ql4.

Q15.

Hifers-19 MM 3 W # ol srgEHarst e e @ e 2 A} | Roaofi i |

(150 3t & I Afom)
COVID-19 pandemic accelerated class inequalities and poverty in India.
Comment. (Answer in 150 words)

wmm%ﬁwﬁﬁwaﬁgﬁmg@wwmm@?ﬁ
3 77T HINT | (150 wIsgl & I Afvw)

Do you agree that regionalism in India appears to be a consequence of rising
cultural assertiveness ? Argue. (Answer in 150 words)

YA ¥ Ud 900 7 W SReh] Sl FHoddl 3R SMHR & T 3T el
Hewaqul it femg & | fad=en AR | (250 =gt & IR @f)

Indian philosophy and tradition played a significant role in conceiving and
shaping the monuments and their art in India. Discuss. (Answer in 250 words)

HEAHTAA ARG & B el dia 36 & & ey &1 Sfafow § | fomoft
$IfT | (250 wsgl A I Afw)

Persian literary sources of medieval India reflect the spirit of the age.
Comment. (Answer in 250 words)

1920 % S | U g 3 3 A=ieh umsit 1 ugor foran =i 319 |mnfoe
YR sgrn | fagemn Sifre | (250 s 3w ifSie)

Since the decade of the 1920s, the national movement acquired various
ideological strands and thereby expanded its social base. Discuss.
(Answer in 250 words)

At 1 vE H e q@T, 96 R it Sa-aiaeT S sg-sran =i
GHETSA] 1 SITER THIEM § §hal § | ATci=-Teds qieor Hifm |
(250 wsqi § I &)

The interlinking of rivers can provide viable solutions to the multi-dimensional
inter-related problems of droughts, floods and interrupted navigation.
Critically examine. (Answer in 250 words)

R H qEreefE Tl e dquerg o 39 e fade oft el §, ° s
¢ % HRU FaRY | TR P % 3ur off ganse | (250 wsst # I i)
Account for the huge flooding of million cities in India including the smart ones

like Hyderabad and Pune. Suggest lasting remedial measures.
(Answer in 250 words)
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Q1e6.

Q17.

Q18.

Q19.

Q20.

IRa ® GRSl i T G9eETE § grerites saoh e # &efty fmend § | fa
Tui FIRT | (250 wsel | Ie Af)

India has immense potential of solar energy though there are regional
variations in its development. Elaborate. (Answer in 250 words)

aRd & o9 gaeH i fufy e Jeey aieds w 3as giemft ywrEt w1 aden
HIfT | (250 wIsgt # IR AR)

Examine the status of forest resources of India and its resultant impact on
climate change. (Answer in 250 words)

= wwa § fafaua @ dgea dvEew % SR W W § 7 fuege Iw
afe | (250 wsal & I AfR)

Is diversity and pluralism in India under threat due to globalisation ? Justify
your answer. (Answer in 250 words)

ffg-Fari @ st g 9w ga | wifdfeta 3o geT ] | N M 3l
HeHd 8 ? (250 gl 7 I i)

Customs and traditions suppress reason leading to obscurantism. Do you
agree ? (Answer in 250 words)

i # fefoea vget 3 fope wobr @ 2w Y Tiam e & Gamed ® AvigH foram 8 2
forega s S | (250 weei 7 W difSw)
How have digital initiatives in India contributed to the functioning of the

education system in the country ? Elaborate your answer.
(Answer in 250 words)
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